Aqus Stainless Steel

THE LEADERS IN RECREATION, FITNESS AND ABILITY!

9889 Garrymore Ln 0
Missoula, MT 59808
888-687-3552 | +1-406-549-0769 Wh ee I c h a I r
www.aquacreek.com

GENERAL WARNINGS

1) BEFORE USING THIS WHEELCHAIR, READ THIS MANUAL AND SAVE FOR FUTURE REFERENCE.

2) ALWAYS INSPECT THE WHEELCHAIR TO ENSURE THAT IT IS PROPERLY POSITIONED AND STABLE
BEFORE USING. DO NOT USE IF WOBBLY OR UNSTABLE.

ITEM# | QTY DESCRIPTION
1 1 | UPPERFOOTREST WELDMENT
2 1 | LOWER FOOTREST WELDMENT
3 1 FOOTREST PLATE
" 4 1 FOOTREST STRAP
5 1 FOOTREST PIN
6 1 M8X30 SCREW SS
1 7 2 M6X30 SCREW SS
‘. 8 2 5X12 RIVET
9 1 M8 NUT SS
10 2 M6 NUT SS
| 8 1 1 M6 NUT SS
12 1 PLASTIC CAP, BLACK

Figure 1

ADJUSTING FOOTREST HEIGHT (REFER TO FIGURE 1)

1) USING THE TOOL PROVIDED, UNSCREW THE NUTS (ITEMS 9 & 10) AND REMOVE THE SCREWS
(ITEMS 6 & 7).

2) PULL LOWER FOOTREST WELDMENT (ITEM 2) DOWNWARD; ADJUST TO SUITABLE POSITION.
3) REPLACE THE SCREWS AND NUTS AND WRENCH TIGHT TO SECURE (ITEMS 6, 7, 9 & 10).

NOTE: MAKE SURE THE TWO PEDALS ARE ADJUSTED TO THE SAME HEIGHT AND ENSURE THE BOTTOM
FOOT SCREW IS SCREWED TIGHT.

Copyright © 2016 Aqua Creek Products All Rights Reserved Revised 12/14/16



